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Questionl:-Who is the current President of the World Bank?
62108 ENDEIOMBO DEOLOTD JMIla® @REIET?

A:-Luc Tardif
2)@ SoRMWlad

B:-Macky Sall

1)Yos 5] e aTeTcor)

C:-David R. Malpass

cawailowy’ @ryad. momdalomy

D:-Thomas Bach

C@®OAMY 6NI04]
Correct Answer:- Option-C

Question2:-Who is known as the "Prophet of the French Revolution''?
" eeyallgomilendo @anald®' agmmoleeasamo @rooe?

A:-Adam Smith
@RYWo yloTo)
B:-Montesquieu

G)(DOG)GTTE(T}’)‘;

C:-Voltaire
GBS

D:-Rousseau
QEMYO
Correct Answer:- Option-D
Question3:-The Bill of Rights was passed in the year

enll@d Boal’ EOHOJMY aldTYILIQ QIBao

A:-1689
1689

B:-1701
1701

C:-1694
1694



D:-1695
1695

Correct Answer:- Option-A

Question4:-Who led the Revolt of 1856 at Bareilly?
1856-6e! snicoelaleal &e10a1omm EN@mio MBI @R)@I6M?

A:-Hazrat Mahal

AaDMI0OD BaO®d

B:-Bakhat Khan
ENIGCUD 610D

C:-Kanwar Singh

SHMBUB Mloty

D:-Nana Sahib

MIMO arLoaslent
Correct Answer:- Option-B

Question5:-Which of the following was known as the second ""Magna Carta" in
English History?
Dolodd alBl@ODIeRI PRI "' 20UNEIBS" ARSI @AM ag@osm?

A:-Religious Toleration Act
2@MVaOleH® Moo

B:-The Petition of Rights
(GTOQI&:OUOGGTBG%G)S @Gl

C:-The Act of Settlement
amcg’lcﬁ@mc@“ Mmoo

D:-The Bill of Rights

@OOIBHIVOEEREES enfl@d
Correct Answer:- Option-D

Question6:-Who wrote the book "The Spirit of Laws"'?
'TloomEsges @rERIAl e oo aETIRE @REIEM?

A:-Montesquieu
G)QOQGTTQCT}&%

B:-Voltaire
CQUBSWA

C:-Rousseau
QEMYO

D:-John Lock
GRI6MN GRIOH

Correct Answer:- Option-A

Question7:-Which of the following is/are a glacial landform?
(i) Cliffs

(ii) Waterfall

(iii) Drumlins



(iv) Barchans
@96LOQYMAUDIB BT BT BRAUT LIDMBAUIEANIo!
(1) anoesnge
(ii) euss450
(i) @oallmdmy
(iv) eruo@dgymdany
A:-(i) and (ii)
(i), (ii)
B:-(iv) only
(iv) oo@eo
C:-(iii) only
(iii) @0@o
D:-(ii) and (iv)
(i), (iv)
Correct Answer:- Option-C

Question8:-The type of remote sensing in which the sensors depend on natural
source of light

0le20g ®&TVMMSlUIIOMO Do, @R@I@ HAVMBTVQREUB (AEHIRAMIOMO MLIERIAIE: OOQlSEH®
@Ry 1fl@lesmo

A:-Active Remote Sensing
@rglal dleasg’ emumavlouy

B:-Passive Remote Sensing
ald@ilal dleaog’ @avadaUloy

C:-RADAR

oawod

D:-LIDAR
efllowod

Correct Answer:- Option-B

Question9:-The factors that determine the temperature of any region are
(i) the intensity and duration of insolation

(ii) the amount of water vapour in the air

(iii) the nature of land surface and altitude

(iv) the cloud cover

ABO®IT (JCBUOBTIOMOWe @Ialmilal MIBENElEsm caISEeaRu3

(i) epMBemvocaIneOMO GIQUOQO EIRIAIWIR.

(ii) agalesar sesnoyoBlOBO @RSl

(1) G®eIEtlemOQH HWEOBIOMOQL MVIRI.

(iv) eacoimid

A:-(i) and (ii)
(i), (i)

B:-(i) and (iii)
(i), (iii)

C:-(ii), (iii) and (iv)
(i), (iii), (iv)



D:-(i), (ii), (iii) and (iv)
(i), (ii), (iii), (iv)
Correct Answer:- Option-D

Questionl0:-A peninsular river of India that drains into Bay of Bengal
NINIUB DUBISANlERI BEHBM DIMIQYSS DalBllal MAl

A:-Brahmaputra
@Yalod©

B:-Sabarmati
mLENIRA®)|

C:-Godavari
GUOBINIG]

D:-Narmada
M3

Correct Answer:- Option-C

Questionl1:-Which among the districts of Kerala has longest coast line?
EHE8OVIORI oQ0 e6cdraleacdlw dleconiQes o) agmoe?

A:-Kollam
080

B:-Ernakulam
ag)O6MI:SB0

C:-Thrissur
RA
D:-Kannur
oeasr“BdS
Correct Answer:- Option-D

Questionl2:-The 2022 United Nations climate change conference (COP 27) was held
at
2022 o1 agdi000y Soenaimuno ayolwom muemsm. (COP 27) msmaoy
A:-Egypt
e0Dlq)
B:-Dubai
LENIOQ)

C:-Glasgow

cggom"cmo

D:-Japan
a0

Correct Answer:- Option-A

Question13:-Seed-water-fertilizer policy popularly known as
allom-gale-Qge oM Gal@lEd @RCIWEISAN M®o

A:-Green Revolution
oGl O_ﬂ(&do.lo



B:-Golden Revolution
maidem allgjale

C:-Operation Flood
630aG0aHMB agow’

D:-Blue Revolution
mlel oﬂ%mo

Correct Answer:- Option-A

Questionl4:-India's first 5 year plan was based on
HIMQYOS @YBIODD AlERUQUONVO AlRLM)| =========-=== @SINOIMAIEBIQYSS®I6MT.

A:-Mahalanobis model
Danelemasnilmy’ Gaoaw®d

B:-Gadgil model

WNIOWWNN@D GROCUDD

C:-Harrod-Domar model
aNIGEIW-CAIND CAICULD®D

D:-Both (1) and (2)
(1) 20 (2) oo

Correct Answer:- Option-C

Questionl5:-Arrange the following according to their increasing order of liquidity.
1. Saving deposits with the banks

2. Currency and coins with the public

3. Demand deposits with the banks

4. Term deposits with the books

BUOWEeS QAUBRLLY UMM ko @oMTVAlY] STl &2le:dlens,

B HgEloal caruallety &seajoauly’

6alo®B|MEERSIO! HOMMIIQ0 MM WEBBEo

nd:Hgloal AWl eseajoayly’

qag@:mgoqg@ @GSo G)QDGrHO(TU']ch:Ua

A:-3-4-1-2
3-4-1-2

B:-2-3-4-1
2-3-4-1

C:-4-1-3-2
4-1-3-2

D:-1-2-3-4
1-2-3-4

Correct Answer:- Option-C

il

Questionl6:-Indian statistical institute was established by
018 TRIJITJln@d @(78({)\3'1%5 uNdall g

A:-Jawaharlal Nehru
LWAUOBRIOB HMOQ

B:-P.C. Mahalanobis
all. mdl. @aanenemosniay’



C:-Amartyasen
@PRAG@OHVOD

D:-None of these
@O.I@@OCTTOQ%;

Correct Answer:- Option-B

Questionl7:-Who is called "Father of GST" in India?
oylad ' dlagmilges allamoal’ agm’ @rdlweqgma @ryoosm?

A:-Mahatma Gandhi
DaOI@RINIMUW

B:-M.S. Swaminathan
af)o. af)(rV. cruIoalmonad

C:-Atal Bihari Vajpayee
@RS Nla02@] QIR EAIW]

D:-None of the above
em«sacﬂomm@@ocmm%;

Correct Answer:- Option-C

Question18:-First Vice Chairman of NITI Aayog

DBIERYEINIOMO @YRY HOQAUMY 6).21BDIND

A:-Arvind Panagariya

@I almnelw

B:-Dr. Rajiv Kumar
GOWI. EIHIQT SO

C:-Dr. K. Rajeswara Raho
GOWI. 6)dh. BICXRUBIG@ OGN

D:-Amitabh Kant

@RAI®OE" £
Correct Answer:- Option-A

Question19:-Find the most correct statements regarding 104th Constitutional
Amendment Act in India.
(i) Removed the idea of reservation of seats for the Anglo-Indian community in the
Lok

Sabha and State Legislatures.
(ii) Extended the deadline for the cessation of seats for SCs and STs in the Lok
Sabha and

State Legislatures from 70 to 80 years.
(iii) 10% Reservation for Economically Weaker Sections of citizens of classes other
than

socially and educationally backward classes or the Seheduled Castes and the
Scheduled

Tribes.
snomyieal 104-::00 @eeMAaIsSMI 6N WA NITWERS cBQQYe VBGBIOW @JMROAIMEUB
6RO 6.
(i)  eansme@lR) Momuoom dloacueegiaje @REWRY AN MUYRIEBIM Ml

MVeQIEEMo af)(M @RYUODo Mo ©.21Q
(i)  eanarvrlcRIg Mcmunom dloamessleeiqo alsle:somi alSlenidy



alleoneBurdasgs Milgeud mldomenamoitoss ra@aidlwl 70-@3 adla 80
QIR0 Mgl

(iii)  cvogadlea0@e allByPEPMIAIAIY. allmodr. Mlmasmaid @3
algle@OM aISleaIdNENIB BFlEOHQSs ABWERSEINAI HaIDEMIMS
MLIMIEBIGHA0Q] allmodne. M@desmm alleonsanudes 10% amu.aieeme

A:-Only (i) and (ii)

(i), (i) m0@o

B:-Only (ii) and (iii)
(i), (iii) @0@o

C:-Only (i) and (iii)
(i), (iii) 20@o

D:-All the above
DQIOWE0

Correct Answer:- Option-A

Question20:-Among the following commissions for the protection and welfare of
designated communities/citizens, which one secured the latest status as
Constitutional body?

MlQBo @mgmﬂgﬂa:gas/@m%@cmomas (MVEBHUEMOTDI(Bo CHUATTHIYSS DMla]OQMN HatllaUTRH @3,
BEEMARISMI MNIAIMEAM Ml aBQQje @il aleall eMSIQ® agaosm?

A:-National Women's Commission
CRWIW QAMI™mI BaRlaHMD

B:-National Commission for Backward Classes
allemods QllRINERUBHPHIYSS CRUIRY & aRlnH

C:-National Commission for Scheduled Caste
AlSlHBITIEIBLHINYESS CRUBIW BHARaUMD

D:-National Human Rights Commission
GRUOIQ AMAHUPNUEIND B2RHMD

Correct Answer:- Option-B

Question21:-Who was the Secretary of Constituent Assembly of India?
EDABYMB BEEMALISMO @RMVERIQYSS HTVEGST! @RE6M?

A:-Dr. Rajendra Prasad

GOWI. PICBM(JTVIE
B:-Shri. H.V.R. lyenkar
W, af)gl.all. eoAd. @WQY®:OM0

C:-Dr. BR Ambedkar
w9, 6nil. GRA@. @PR.CENICEH®

D:-Shri. Sachchidananda Sinha

Wl quafleomaz avladan
Correct Answer:- Option-B

Question22:-Identify the correct statement regarding recent Citizenship Amedment
Act 2019.



(i) It provides Indian citizenship to the migrants who entered India on or before
31st
December 2014.
(ii) The Act was passed for migrants of six different religions such as Hindus, Sikhs,
Buddhists, Jains, Parsis and Christians from Afghanistan, Bangladesh and
Pakistan.
(iii) Parliament used its exclusive power to legislate with respect to citizenship
under the
Seventh Schedule of Indian Constitution.
(iv) The provisions on citizenship will not apply to the tribal areas of Assam,
Meghalaya,
Mizoram and Tripura that are included in the sixth schedule of the constitution.
dflaleoal eardeml ee3V®I Mlae 2019 mussninuily welwow mpoaim dldlyclgs
(i) 2014 cawlorvesnid 31 emo @R@MegeEMId MYV @EDly) G:SleQ@odHes
D@ AN HAlDEIo MBI
(i)  @eadmomlmunom, enieRoeaud, alEslmunm agariaissrglcd mlanes
aOl3HU8, MIlERH:IB, NYRLAMENIB, EOVMAMENIB, aloF]sud,
@lpYOTleu8 @saElo @RO AT A?ERs|d
Tless #:Sl6QEIAE IS 0D Mlas aldTyIEs)
(iii) epmyMB EEMRISHYOS aG$o OAHWYID ()00 EalDE@IYDIVI NITWEaS
Tloamldandeme MSOMOM ald@eIead @GO (EMH @RUWIE:IG.
@mc@om’l_gd
(iv) cesmeaism@es @ry0oo e Eled 9w goTIRlElemm @MY, tacaneiw,
dleqyo0e , @laje agarlalseangElenl G1I@ERRIRIGUBES HalDEDI QIITVNG:UY

61”00)06:%
A:-Only (i) and (ii)
(i), (ii) oo@eo
B:-Only (ii) and (iv)
(ii), (iv) @ao@o

C:-Only (i), (ii) and (iv)
(i), (ii), (iv) 20@o

D:-All the above
QB &|TBa OIS0

Correct Answer:- Option-D

Question23:-Protection of Wildlife and Environment is detailed in which part of the
Constitution of India?

amElailegesqo adlmdolgese MeesseMe MM BEEMRISMQSS aR® BINOMIET
aflvecaoss@leamo?

A:-Fundamental Rights
eavells GPAIE:IU068RU3

B:-Directive principles of States policy
VLNINIM MO0 MIBERURE OIERUD

C:-Fundamental duties
enveile: &HSasud

D:-Preamble
@rQ6lo



Correct Answer:- Option-B

Question24:-Identify the wrong statement regarding the new amendment to the
Flag Code of India

DMIQYES aQOUY EHIUWIOR! oJTilw EeRNOIOWERGlYSS HMQPIW @JaRIAIM @] 9iClQe

A:-The National Flag shall be made of hand-span and hand-woven or machine-
made, cotton, polyester, wool, silk khadi bunting.
GRUWIQ Al®I: HOHEBNE HMPEDI, W OB Ml 4I6®0, EHIZM, GaldElqud, dmig], miladdes)
610Gl enIeNElo)” BBEN=06M M 4fl@lesm @y

B:-Permits the display of the national flag by members of the public, private
organizations, educational institutions, etc.
0ald®, MUIGHIYMVRISME U, QllBPEOMVMINIAIMEBRUT YDRIOWAIRIORI @RoWEERUIE CRUBIR Al
@BAWla]lenod @rmad malme

C:-The new rules did not permit polyester flags, only hand-spun and hand-
woven flags were allowed.
oJOl© Mlamsud EaSITNA al®Id®:ud @RMAIG]e), OOGEIE MWEBMDo HEG:OEHINE HNMQYPDAIW
Al®IBHBHUd RI@ED @RMAICIES

D:-The new code lifts the restrictions on the import of machine-made flags
which was banned in 2019.
2019-® dleeowlal &2l MA@ aIeIBHU8 Lomad eagmMmadlees WWEPEMERUS ool

GO ) ST HS6I0T
Correct Answer:- Option-C

Question25:-According to Administrative Reforms Commission, the institution of
Lokpal and Lokayukta should be characterised by which of the following features.
(i) Their appointment should as far as possible, be non-political
(ii) Their proceedings should be subjected to judicial interference
(iii) Their investigation and proceedings should be conducted in public and should
be formal in
character
(iv) They should not look forward to any benefit from executive
BEEMal@ley@6m MlanmMIEls] GeI0E:aI0alemOQe GRINGHIQYBMRYOSWRo MVNIaIMo MISLA|OTRYN
aRO®E00 MAIEWHMGE0@ Qlletoatlln]lEnen]ssmo?
(i) @rames mloam. e¥lgmilseomog. @PEIHwnowldlemsms
(1) @raImes MsalSleud lalauy@d seaisalm allewadsnsme
(iil) ePaImes @REMIAEMAQJ MSalSle:go alEMLIRIW] MSEDEH BDALICS
MLIRINIYBB®RIWVIGlEe6Mo
(iv) aggleyslallcd mimess 6o ermeeaj GG Jolexendoy

A:-Only (i) and (ii)
(i), (ii) oo@eo
B:-Only (i), (iii) and (iv)
(1), (iii), (iv) ao@o
C:-Only (i) and (iv)
(1), (iv) @o@o
D:-All of the above ((i), (ii), (iii) and (iv))
spaieeyoo ((i), (ii), (iii) and (iv))
Correct Answer:- Option-C



Question26:-Who was the Chairman of 4th State finance Commission of Kerala
CHESODIOAI MILIDASD (MVEMLAIM WMEIRY GHIARlaUM 6 21BR08 @RYEIWI@M?

A:-Dr. B.A. Prakash
cow9. 6nll.ag). @JBoud

B:-Sri. KV Rabindran Nair
W. o.all. eall3m mowad

C:-Sri. S.M. Vijayanand

W, o). af)e. Qllmomad’

D:-Sri. Prof. M.A. Oommen
W B@joan. af)e.af). OMOD

Correct Answer:- Option-D

Question27:-Which of the following are the means of judicial control over
administration

(i) Suits against government

(ii) Judicial review

(iii) Rule of law

(iv) Statutory appeal

@96 OQYMAUDIB BODIOEWIT BEEMOMIHMO ¢a®d BWlauy@d TmlwEemomvimss a0d\eRud?
(i) cudemdlemdeeWss NN

(1) smaflauyod @RAIGRIE:Mo

(i) Moaaog

(iv) donaeaw @oaflod

A:-Only (i), (ii) and (iii)
(i), (ii), (iii) 20@o

B:-Only (i), (iii) and (iv)
(i), (iii), (iv) @a0@o

C:-Only (ii), (iii) and (iv)
(ii), (iii), (iv) @a0@o

D:-Only (i), (ii) and (iv)
(i), (i), (iv) @o@o

Correct Answer:- Option-D

Question28:-Which among the following is a pioneering e-gvoernance project set up
by government of Kerala for computerisation of Local self government institutions
of Kerala

®I6Ca|0QMADIE BRI CHESTMIOR @EZUBTVIEREEM MNOAIMEBRSES &odég('a

QU@ EBEEMOHIMIW] eHE8 MIAEHIR @ alld:@la) -eaeMmMY alrL®)

A:-Information Kerala Mission
DMaNBEDUM CHES AllaUd

B:-Akshaya
@RHHUQ

C:-Kerala State IT Mission
BHE8 GTNY Oaf)s! alaud



D:-Kerala State Wide Area Network
BHES CTRY HOQIW aRBGl 6MY QAIBELS

Correct Answer:- Option-A

Question29:-In which year the State planning Board was made a permanent major
Department of the government
MVEMINIM @RTY@EM GNIOAWIHM MUBMIGIOMO Mudl@e (JWIM Al 0@ MGl QIBaHo

A:-1967
1967

B:-1969
1969

C:-1974
1974

D:-1972
1972

Correct Answer:- Option-C

Question30:-Which among the following statement is/are correct about State
Human Rights Commission
(i) The chairperson should be a retired Chief Justice or a Judge of a High Court
(ii) The chairperson and members are removed by the Governor on the
recommendations of

a committee consisting of the Chief Ministers as its head, the speaker of the

Legislative Assembly.
(iii) The chairperson and members hold office for a term of three years or until they
attain

the age of 70 years, whichever comes first
(iv) The salaries, allowances and other conditions of service of the chairperson or a
member

are determined by the parliament.
MeMAOM AMRAHPOAIBIUD HAlHOM MMl @IOLAORQAN JTROAUMBEI @6 0dl?
(i) ®awAdeaigem alloaly slad Bmilemd 8@ OOa0eEIS® Baualewo

@RIElEHEMo
(i) geoya@raod, mloamer nilend agailaesaza a8 e:mildges

©a10BUB(EJEIGe ©alIQBEAILHMQo GRUEREOSW NAIAERA Mldno 6.21Q)M0
(iii) ea@Aealgemo @RUIETBSo YO AIBUCODE @O 70 clmy

OHQYMDAUOE DOBITD aBDICMI @YGL QUMD G@OT
(iv) 6.21QBCAILHMEWO @RoNOTIHMBOCRI LBMISOYo «;roelmoﬁcrgce:go iled
EILQIMAUQITVAGSo aloBRIeAmR6M @lmRMmlEBaN G

A:-Only (i), (ii) and (iii)
(i), (ii), (iii) ao@o

B:-Only (i), (ii) and (iv)
(i), (ii), (iv) @a0@o

C:-Only (ii) and (iv)
(ii), (iv) @ao@o

D:-Only (i) and (iii)
(i), (iii) 20@o



Correct Answer:- Option-D

Question31:-Who is the Chief Executive officer of Kerala State Disaster
Management Authority?
EHE8 GTRY WIMLIMA MoemM=ea @GRE®ICICIQeS aflad o@%']oeaégﬂcﬂ &0a4lru@ @ryedem?

A:-Chief Minister
Qe @

B:-The Chief Secretary
aflad” &ru@ g0l

C:-Revenue Minister
oQImy @)

D:-Additional Chief Secretary, Revenue and Disaster Management
@RWlaHeMm@ aflad” &M@ S0, 0QImy @R’ AWlMLIq@ @emEea

Correct Answer:- Option-B

Question32:-According to the Kerala Head Load workers Act, which one of the
following acts as appellate authorities

BHES HaDW GRIDAW QAIBEERE @& @MoMVEl,], SDMlajoQMmaIRicd &1 @Rl @RWIE:I@le:800]
QIO EBM

A:-The Regional Joint Labour Commissioners
Oledlwemn@d ez’ calni@ @adlaHern@acd

B:-Deputy Labour Commissioners
@wm‘g celni@ HonllauenN@aod

C:-District Labour Officers
m’l%o ecalen@ 82a0lrud:mad

D:-Labour Comissionerate
ealend oeami’lnsaamog

Correct Answer:- Option-A

Question33:-Which of the following is not a Ramsar Site in Kerala?
EHOBOMIOR! 00TVA HOMVY BBLOTOD MOOLA|OQRMNAUDIMS aR@IEM?

A:-Vembanad

GQIMIMIS
B:-Ashtamudi
@RYQS]

C:-Sasthamkotta
(rooaggoocoe:og

D:-Vellayani

QIS0
Correct Answer:- Option-D

Question34:-Kerala State Disaster Management Authority is
GHE8 GTRY AWIMLITRA @eMmead @REMICIC] @REM’

A:-A Statutory body
B3T3 q;(,;o%go'l eenIoawl

B:-A Non-Statutory body



63@3 GMNI6NJ- (ggocgégo'l @6nIoWl

C:-An Autonomous body
B3 6306506MAY’ GenIoa]

D:-A Statutory Non-Autonomous body
6303 q)\go%gcﬂ GMOM-630E506MAMY’ EenIO]

Correct Answer:- Option-D

Question35:-Who is the Chairman of Kerala Rural Employment and Welfare Society
(KREWS)?
EHOB QUM af)oGalIOYPM @RMA HABMSNWAB HIVISSTVTIQYeS (KREWS) 6210030008 @ry@06rm7

A:-Balamurali D IAS
6n1021gEal AWl eag)ag)ag)my’

B:-Adv. P Viswambarapanicker
@AWl ofl allveleni@alemlend

C:-P.l. Sreevidya IAS
all.®ag). @IAIBY Bag)ag)agry’

D:-Dr. Joy Elamon
GOWI. GWOW EDSBMEND

Correct Answer:- Option-B

Question36:-Who is the Chief Labour Commissioner (Central) of India?
OMYQeS allad’ calenid Sadflauend (ervadsad) @ryoosm?

A:-Shri Ajay Kumar Samantaray
WY EPRRW B:20@ MIDOTEIW

B:-Shri S C Joshi

@ ey’ Il Ea0al

C:-Shri R G Meena
Wl @od.=dl. adlm

D:-Dr. S. Chithra

GOWO. af)MV. 2ll@
Correct Answer:- Option-A

Question37:-Skin, eyes and heart are
2lG820, BHENPHUB, AOBWo af)aTila

A:-Organs
@RAIQAQIEBRUY

B:-Cells

/ML U
Y

C:-Tissues
S']oﬂdécﬁa(fa

D:-Systems
aJlayeanud

Correct Answer:- Option-A



Question38:-Cells (in trillion) in human body
DRHYREBEOBIOAI CH0006aRUd (Slanemia)

A:-10
10

B:-600
600

C:-37.2
37.2

D:-25
25

Correct Answer:- Option-C

Question39:-The most essential nutrient for a women during her initial stages of
pregnancy
NBERIIMINWYES (IR LISOTIT BT3 ag]@s)“ aRBQ0Jo @RQUUDIAIW GaldaHdho

A:-Vit. A
allgoailad A

B:-Thiamin
©®@OoaIm

C:-Folic Acid

Gandslld; @ryarulouy’

D:-None
Zlqpelnle]]

Correct Answer:- Option-C

Question40:-Protein deficiency disease is
GJOSIMB HOQB8 CEINAIEM'

A:-Hyperthyroidism

6600|366 ®e0I@laularve

B:-Meningitis
eaclndeemiglony’

C:-Kwashiorkor
SI0aHlcIBHAD

D:-Anaemia
@pMInlw

Correct Answer:- Option-C

Question41:-Disease transmitted by insect vector
&1SQI0a0IM] QIFl ald@M I

A:-Cancer
@®A6NYBo

B:-AIDS
afouimy’

C:-Malaria
neaIolw



D:-None
Gsmam%

Correct Answer:- Option-C

Question42:-Sound harmful above
aD0MIBHEAOQ UBENo af)M@Y

A:-100 db
100 db

B:-10 db
10 db

C:-40 db
40 db

D:-80 db
80 db

Correct Answer:- Option-D

Question43:-The scientific name given, recently, to kaari fish (kadu)-(black stinging
cat fish) is
&AM (803)-(BQom GEmM ddadledd) @RgOTIeS M@l (RIMYlMOR0

A:-Heteropneustes fossilis
aaogcoo%cggm“ Ganoilallmy’

B:-Heteropneustes fuscus
aongcoo%q)gcm“ aoéa}gm“
C:-Heteropneuestes nani

©a0QEOIQUANMY mom|

D:-Heteropneustes singhi
aoogcsoo%q)gm“ Vsl

Correct Answer:- Option-B

Question44:-India declared Polio free in
DY Gnlosled Qllgemaow @leuyoallql@

A:-1990
1990

B:-1992
1992

C:-2010
2010

D:-2014
2014

Correct Answer:- Option-D

Question45:-For which colour of light, the refractive index of a transparent medium
is minimum?

@BHOGOTOMO aB@ WOEBTIM, B@ TY®IEY AIWRCIEMO Clegogplal

DMBOWE aBQYo B:0QI6M?



A:-Red
ajQla]

B:-Green
alg]

C:-Violet

aealq

D:-Same for all colours
af)gjo Ml0EERUBERe BMGAIOAI

Correct Answer:- Option-A

Question46:-The force which opposes the relative motion between the different
layers of a liquid is
8@ GoUBODIOM0 alalw alogle:B:lsle|ss @ReAIEHE: AIRIMODD af)BIBEBM OB

A:-Buoyant force
N GandY’

B:-Surface tension
MUBGANMY SBAHUD

C:-Centripetal force
&mMSlaflood canoy”

D:-Viscous force
aflemoay’ Gandg’

Correct Answer:- Option-D

Question47:-A body of mass 'm' is sliding over a horizontal surface. If 'g' is the
acceleration due to gravity, then the force of gravity 'F' acting on the body and the
work 'W' done by the force of gravity are

'm' aflemwgss e aay olewalmnw 8@ oeievled e dlEgme. D@@IOBEaHEM FRIPERISMN
@106mo 'g" @REMEIG, V@AMl 'F' aimgaldd ejaudoolesam "W ayaglooem

A-F=0,W=0
F=0,W=0

B:-F=mg, W =mg
F=mg, W= mg

C-F=mg, W=0
F=mg, W=0

D:-F =0, W =mg
F=0, W=mg

Correct Answer:- Option-C

Question48:-When a body is moved from the surface of earth to the top of a
mountain, its weight,
8@ QY GIYes Daidloaloid ala’ aeigesleaies 20QGMIOU3, @O®IOMO @I

A:-increases
&3m0

B:-decreases
SOQM



C:-remains the same
@REMalS] ST

D:-becomes infinity
@MW MIQD

Correct Answer:- Option-B

Question49:-The geometry of fullerene C60 consist of
agesd Co60 mpdololcd aorsarsloldlesmae

A:-12 pentagons only
12 eanemed ao@oe

B:-20 hexagons only
20 ©a0g0eMB:u3 M0@o

C:-20 hexagons and 12 pentagons
20 eaoguedg. 12 oaidnemego

D:-12 hexagons and 20 pentagons
12 OaOGUENBH S0 20 OaIRUIEMBB o

Correct Answer:- Option-C

Question50:-Which of the following statement is/are correct about main group
elements of the periodic table?

(i) Li shows diagonal relationship with Be

(i) PO is a main group element

(iii) F is the most electronegative element

@RAUBCMMaSlHOleal WM Yaf og)elamogoeaag MVENITW] 5] @®IOPLOQM (JTRIAUMBSEITS aG@6m
REIWIV®

(i) Be woigss cwwwemad enirwasem’ Li eoemlesamoy

(i) PO @wom @al agaioaddosm

(iii) F agom@ @jwom seegoemmndlal ageieaddosny

A:-Only (i) and (ii)

(i), (ii) oo@eo

B:-Only (i) and (iii)
(1), (iil) @0@o

C:-Only (ii) and (iii)
(ii), (iii) @a0@o

D:-All the above (i, ii and iii)
EAMa 0oL (i, i, iii)
Correct Answer:- Option-C

Question51:-What is the pH of 1M NaOH solution at 25°C?
25°C @@ 1M NaOH enwdiges pH ag@woem?

A:-0
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D:-14
14

Correct Answer:- Option-D

Question52:-"Vigyan Sarvatra Pujyate' of 2022 is associated with
" allemome MBI ojmied’’ 2022 enomo©i snimwen|sldlesmo

A:-National Science Day
GRUWIW (roocrge'lmo

B:-Indian Science Congress
EOAMNB MBI CBHIEMWA

C:-National Technology Day

CRUBI LIECHBMIB BlMo

D:-National Education Day
3wl Qe Glmo

Correct Answer:- Option-A

Question53:-Vasthuhara, a film directed by G. Aravindan is based on a short story
written by
adl. @PEAIMM Mealwome £.21Q QAARANIG ag)aM MIMIa afETI B E21IQBINQSS @ESIMLOIMEBIL6NY.

A:-M.T. Vasudevan Nair
age. Sl QUOMYERAUM MIW®

B:-S.K. Pottakkad

af)TV. . 6aloQEndS

C:-0.V. Vijayam

a.all. almond

D:-C.V. Sreeraman
adl.all. Wwleoam

Correct Answer:- Option-D

Question54:-Which of the following is/are true about Kerala Kalamandalam?

(i) Itis situated in Cheruthuruthy

(ii) Kerala Kalamandalam was established in 1930

(iii) Mankulam Mukundaraja was closely associated with the foundation of Kerala
Kalamandalam

EHOS HLRIAIMWLIOODERC]] MIOLa]OQMAIRI® og@oe’ todl?

(i) eaQo@moviianem ooy @6 algmoy

(i) edmessmenaembel 1930 - @@ qunoalmacel

(iii) 2o®80 YOEMEIHM cHES HLIDDEMWAITTIHMO @PRSIOMOQAIY] GRS
ENICNWYENROI @M

A:-Only (i) and (ii)
(i), (i) 20@o

B:-Only (ii) and (iii)
(i), (iii) 20@o



C:-Only (i) and (iii)
(1), (iii) @0@o

D:-All the above
GAMAOEOAUSHWE o

Correct Answer:- Option-D

Question55:-Which of the following is not authored by Vallathol Narayana Menon?
©®I69a0QMAWIG8 AUSSEOMIUE MIGIWEMEAGMIM @ 2llEn T a@®o6rm’?

A:-Ente Gurunathan
af)OMO LTBMILOD

B:-Kochu Seetha

@@:ogdmﬂ@

C:-Onappattukar
ssom)ckjo%oe:oc%

D:-Achanum Makalaum
(GTO%(’TDO mcﬁ:%o

Correct Answer:- Option-C

Question56:-Which of the following film is not matched correctly?
96 j0QM 2N@EBEIM ag@M PEIWIVS EDGBOEMO|SOOTD® ?

A:-Madonna-Raphael

AGOWIEM-0IBaND@D

B:-Irises-Van Gogh
af)0lonv-QIMeUnUY

C:-Vitruvian Man-Da Vinci
allgallom aom-awoalsmi

D:-The Return of the Prodigal Son-Michealangelo
3 0legem 639a0 3 JOWINT MLEN-HHACENLIIGRICRID

Correct Answer:- Option-D

Question57:-Which of the following is matched correctly?
@96 OQYMAUDIB oZ®I6M AIWIW HAIDTBOTE ST ?

A:-Kaimudrakal - Sethu
OOHHPYGBHHUI - BTLVD

B:-Nirtham - Rajalekshmi

DO - EIRAISU

C:-Delhi Gadhakal - V.K.N

Q@0 DAUWN@S - Qll. . af)(B.

D:-Kudiyozhikkal - Kovilan
BSIOWIGIBH@ - CHIQNRINd

Correct Answer:- Option-A

Question58:-Which of the following is not true about 'Virgin Galactic'?
(i) Itis world's first commercial space tourism company

(ii) Elon Musk is the founder of Virgin Galactic

(iii) It is an American spaceflight company founded in 2004



®969a]0QMAIRI® agmoem’ ' alldsdlmd noalgle:' musninulyf WGP ?

(i) censoviea GREEOD QTS NIaGIEIB00 FOIMVe EBMUTwosT

(ii) aldedlmd woeiglss MuNIAIBM ageeisnd amy @rsm

(ili) 2004 - @ munoalonIw 8@ @PEaGIEM eniaGlEIEIUe Qladm &MIMIIeTI@

A:-Only (i)
(i) 20@o
B:-Only (ii)
(ii) oo@o
C:-Only (iii)
(iil) @0@o
D:-All the above
GATB O AUBHQB[00

Correct Answer:- Option-B

Question59:-Chrysilla volupe, a rare organism recently spotted in Puttenahalli
belongs to which category of species?
aJODEMaOSSIOIBE RTINS HeMOTI @A Hlalwiw ol emogénd” aRBOY @mcmﬂas%o(%]gm?

A:-Frog

Q8

B:-Dung Beetle
aweard’ enliglod

C:-Spider
alleioo)]
D:-Turtle
@]
Correct Answer:- Option-C
Question60:- is an example for secondary storage device.

OTUHMA] 61YIE0R” WleeIMlm ©Boa0®EMo

A:-Magnetic disk
@2ungles’ aullmy

B:-RAM

0o

C:-ROM

G000

D:-Cache
&06)5]

Correct Answer:- Option-A

Question61:- is used for creating web pages
QNI GaIBHU8 MYl DaleIUilERmo

A:-SQL
SQL

B:-Paint

G)OJ@VO?))V



C:-HTML
HTML

D:-Adobe Reader

@REWINT Glowad
Correct Answer:- Option-C

Question62:-The application software that is used for processing data is
QWOQY EITVMNY OaIYMMNDIM Dale@IUIERM @RYQEEHAHM ETVInY EQIWA

A:-GIMP
GIMP

B:-Ms PowerPoint
ag)o. af)aV. alQl@ Galo@ldy

C:-MS Word
agf)oag)my’ eQICUY

D:-Spreadsheet
MYy
Correct Answer:- Option-D

Question63:-Information Technology Act was introduced in the year
OMBaNBERUB HSEHIBH] @R @PAIMEla]lal QIBako

A:-1998
1998

B:-2000
2000

C:-2001
2001

D:-2002
2002

Correct Answer:- Option-B

Question64:-The device that is used to connect two different networks is called
6N Q®YTY OMY AUBLRGUE ITWlaflendB 9aIeOUTERM Dald@EMETI) ------=----= ag)omy’ Qllglesmo.

A:-LAN
210013

B:-Gateway

(smcg“ e

C:-Decoder
awledooad

D:-RJ45
ardem4 5

Correct Answer:- Option-B

Question65:-Right to Information Act, 2005 does not cover
allaieoaisowe dloa., 2005 owdeqgmlgy

A:-Offices of Public Authorities established, owned or substantially financed by



the Central Government
BB @BNABM@BOMBO MNIalmEnad SATUNGWILIBBE®I NEMIRIWW WMTVANIWo MABH:MMEMI GRYW
0aN® @RUlBElGEeS 630adlrysud

B:-Offices of Public Authorities established, owned the State Governments
MYoMOIM MBEIBHEES 9SaMLNOXe8s omogmw’loe;:)@lﬁ:g_}@s 630a0lrYe>ud

C:-Any body owned, controlled or substantially financed by Central
Government
H@MVABMMEOO OsamNOOIgIB8e™I MEPEEAIFIME®I EMRIW WMTVANIWo M@IL:MMNEDI
@YX aBOMIT GNIOAIN0

D:-A non Government Organisation not substantially financed directly or
indirectly by Central Government
BH@MMUABLHIG BMNEIESO BRLJH@EWI HOBYAIW TVIMICNE: TVANIWo MTBGHIT BT NAISENAMD DM®
MUNJalMo

Correct Answer:- Option-D

Question66:-What is the maximum amount of penalty imposed under The Kerala
Right to Service Act 2012 on a designated officer failing to provide service without
reasonable and sufficient cause?

MPWAIWDo AT WOIVWDAIW H:IEEMAIRH@ EIVAIMo M@LIMNTIT A IGIVWEAIFIN BT MIQYHD)
ocapnmunm 2012-ea1 emes8 cruaimIni®:0e Mae @RMRMVE],] 4TI aleadQIW] all® ag@@oem?

A:-10,000
10,000

B:-5,000
5,000

C:-1,00,000
1,00,000

D:-500
500

Correct Answer:- Option-B

Question67:-Which of the following statutes provide for constitution of Internal
Complaints Committee?
Ml joQMADIEE ol Mlaaden’ eMemmd Brogl@@ MLAlGIYes @alaemaslmowl m@da:mmay

A:-Right to Information Act, 2005

allaeoaisive dloam., 2005

B:-The Kerala Right to Service Act 2012
GHESBI BILAIMIAUB:IN Ma., 2012

C:-The Sexual Harassment of Women at Workplace (Prevention, Prohibition and
Redressal) Act, 2013

ez0aflrunaion mile:udes’ emee@es eelulld: afluom (msmd, mleeowms, al@land®@.) Mlwa., 2013

D:-Juvenile Justice (Care and Protection of Children) Act, 2015
2016eMm@ BRIV (S5le86s WERLQP MeEsUEMAY) Mloa. 2015

Correct Answer:- Option-C

Question68:-Mr. X gives false information to a magistrate that a police officer
illegally omits to do his work. The magistrate believing this, takes action upon the



police officer? What offence Mr. X has committed?

dlyd X, 8@ eanallmyespnmuam @eao emoel eagmalaalan mlealaruad] gl e6omgow
alloieanud asdlemudlay m@eme. @ alleimdlyl asdlemyg, caloallmy’ pespuauoem@lee
msalslowgenend? dlayd X agm :qno6m) 6.1Qw?

A:-Providing false information to public servant under Section 182 of Indian
Penal Code
oM wlesdmloacvleal amueum 182 @0 6al0DEIAIBOmGM MW QllaIEEBUE M@

B:-Fabricating false evidence under Sec 192 of The Indian Penal Code
oy wleromlwaovileal HarLesm 192 @800 OOMQOQ HOSIYHUS DENBILBD

C:-Obstructing public servant in discharge of his official duties under Section
186 of The Indian Penal Code

oy wWleromlwaowieal HTVEHMM 1860 dhoee 8DERPUI®: Yameld:ud MIBQNSlEBM®I®
00D JAUBODB:OM MSANOSSDMO

D:-Threat of injury to Public servant under 189 of The Indian Penal Code
oy wWlesmlwaooieal amuesm 189 @eore ealDEladTmEGeM aldlesalesanm Eauen]

Correct Answer:- Option-A

Question69:-""Parent' under Maintenance and welfare of Parents and Senior Citizens
Act, 2007 include

(i) Biological parents below 60 years

(ii) Step mother

2007-e01 20@f@OBBOSQo F@IBM EaIVEMIMBOSWYo  al@laldRIMfe CEHANYe MlACHIM Bl¥lajss

" eetlmoal’ 9udeajgmo

(i) 60 cqia ®mergss sflawITyalea® a0mIalmenud udealgme

(i) eenzoman

A:-Both (i) and (ii) are correct
(1), (ii) Rloem

B:-Both (i) and (ii) are incorrect
(1), (ii) e®gosm

C:-Only (i) is correct
(i) 20@o voBlo6TY

D:-Only (ii) is correct
(i) @0@o voBlo6TY

Correct Answer:- Option-A

Question70:-Lokpal has jurisdiction over
6@ aloellm’ @eWle:0ealelwlweng’

A:-State Government to inquire into allegations of corruption against its public
functionaries
MEAIM MIBEHIR EOIOMO BB (JAUBODBHBOLRIQ @RSIAMT @R)EIAIMEBROSLRC 5]
@REMIaHlEHOMD

B:-Central Government to inquire into allegations of corruption against its
public functionaries
CH M TVREHIBIOMO HaldDJQIBOEHAOEBIEIW @RYIAD] @R)EEIAIMEROSEBO] 4] @REMInHlEHID

C:-Central Government to inquire into allegations of sexual harassment
against its public functionaries



£aldD(JAUBRCMEBRUIOEIEIW HBLRIWIGITIGHRD @RYECEIAIMEBRUE @REMINHIEHIM EHM3 TVBLHIMD

D:-None of the above
emﬁcﬂomm@@om%

Correct Answer:- Option-B

Question71:-The least among the following is
©®I69a|0QMADIE aBQOje 6210y

A:-(0.08)
(0.08)°

B:-0.1+0.08
0.1+0.08

C:i-(02)°

Correct Answer:- Option-C

Question72:-The number of terms of the sequence 76, 72, 68,..... that must be
added to get the sum zero is

76,72, 68, ...... A GROTIOL! alGEREOS af)fiRo e LIEIEHIM EaldCHmENET
A:-39
39
B:-43
C:-63
63
D:-65
65

Correct Answer:- Option-A

Question73:-The average of first 35 natural numbers is
@REO™m 35 cunedals MUoEUEHEES UBEIUBE

A:-17.5
17.5

B:-18
18

C:-630
630

D:-1225
1225

Correct Answer:- Option-B

Question74:-A did ! of a work, B did ? of it and C did the rest of it. They gained Rs.
3300 for the total work, Then, C's wages is

A am emoelges 1/3 @owe ©alQ. B, 2/5 =ovoe ©alg. C @o@lemo eniodsl @ ©alQ. EROODo
emoell 0219 @waid 3,300 emsl. agwlad C aidly el apo?

A:-Rs. 330



@. 330

B:-Rs. 880
@. 880

C:-Rs. 1100
@.1100

D:-Rs. 1320
@. 1320

Correct Answer:- Option-B

Question75:-The perimeter (in cm) of a semicircle of radius 91 cm is
91 emv.dl. EREYss B8 @RARLYOMEDIEMO Yosal (ev.dl.)

A:-286
286

B:-377
377

C:-468
468

D:-572
572

Correct Answer:- Option-C

Question76:-The next term in the series 11, 18, 73, .... is
11, 18, 73, ..... mildlmileal @RSOD alBo

A:-99
99

B:-108
108

C:-517
517

D:-634
634

Correct Answer:- Option-D

Question77:-If KDKO stands for GAIN, then stands for LOSS.
KDKO agemay GAIN agemaiiom myalaflesmeaislad  LOSS agmay ayalleflesomaoy

A:-PRUT
PRUT

B:-PRTT
PRTT

C:-FUTR
FUTR

D:-QSTT
QSTT

Correct Answer:- Option-A

Question78:-A man said to a woman, "the only son of your brother is the brother of



my wife'. How is that woman related to the wife of that man?
B@ aJGBUM BG3 MYEWIS’ a0, "lemo MEa0IBEOMO aRd AHM af)HMO RIS
MUEANOBEMITT''. @R Ml @) AJBUHBO EIEYRPIW] AfEBOEM IMWESIElERM?

A:-Sister
MUCaNIBE]

B:-Mother

@ra

C:-Aunt

@Rmow]

D:-Grandmother
IOl
Correct Answer:- Option-C

Question79:-If N denotes '+' Q denotes '-', M denotes 'x' and P denotes '+, then
1000P5N5Q80M2P2M4 is

N agono '+', Q myallafesma '—', M agmma ' X', P agmmay '+ @resmeslod
1000P5N5Q80M2P2M4 @ryery

A:-80
80

B:-—115
—-115

C:-185
185

D:-—220
—220

Correct Answer:- Option-B

Question80:-What is the angle between the minute hand and the hour hand of a
clock when the time is 3.107?

maw. 3.10 eruidlesemnud 8w egIeslondo dlaly myalge aeilgaad myalg. mele)ss es0end
)67

A:-159
15°

25°
35°

45°
Correct Answer:- Option-C
Question81:-Which one is correct?
A:-Dani requested to not go there

B:-Dani requested not to went there



C:-Dani requested them not going there
D:-Dani requested them not to go there
Correct Answer:- Option-D
Question82:-He is going to the programme
A:-Call off
B:-Call up
C:-Call on
D:-Call upon

Correct Answer:- Option-A
Question83:-One of us brought an application
A:-have
B:-has
C:-are
D:-all of these
Correct Answer:- Option-B
Question84:-Which of the following is correctly spelt?
A:-diprivation
B:-deprivetion
C:-deprivation
D:-diprevation
Correct Answer:- Option-C

Question85:-Select the most appropriate meaning of the given idiom.
"Fair and square"

A:-honestly

B:-nasty

C:-cunning

D:-culpable

Correct Answer:- Option-A

Question86:-Choose the best substitute from the given options
An isolated shelter for infected patients

A:-leitmotif

B:-lazaretto

C:-laundry

D:-lance

Correct Answer:- Option-B

Question87:-Complete the sentence
| had got the first prize,




A:-l would be happy

B:-I will be happy

C:-1 would have been happy
D:-1 would happy

Correct Answer:- Option-C

Question88:-which of the following options are most similar in meaning to the word,
creased.

(i) crumpled
(ii) wrinkled
(iii) crinkled
(iv) folded
A:-(i) and (iv)
B:-(i), (ii), (iii)
C:-(iv)
D:-all of these
Correct Answer:- Option-D

Question89:-She is my

A:-Collegue

B:-Colleague

C:-Collegu

D:-Collage

Correct Answer:- Option-B

Question90:-Select the correct question tag
They need some money, ?

A:-need they?

B:-don't they?

C:-needn't they?

D:-didn't they?

Correct Answer:- Option-B
Question91:-dlwIw alBe HMEEENSEHTHEDH:.

A:-eeuaimad

B:- ey amad

C:-0o@4/@3m

D:-wosimm

Correct Answer:- Option-D

Question92:-wdlwiw Ay OIS ERE:
&HOHOCMEAIW] QAUIaOMo @«»’loem"l_r%ooe;ome” &Sl ud n@gﬂcracmm’lmo QIAOMQYo SITOM NI LB



A:-8:60emen00 &:SlE:03 QIa0Mo J©@)|Bl oo B06NE (ré)g'laa audilale SHIED MIGIELBMO
B:- #5608 &:e0emonow agg’laam)m’lcuo QI9aOMo BHITDMICILZTO

C:-m:60emem0 Q19a0M. @(ov"loeﬂqé@ce;om” BSlHud aggﬂaam)m"lcuo &HITOMICI LB
D:-&gle:03 ananmo @ @lEH 5J6 06N B:EOEMERIWS ogg'lcratmm‘lruo BHOTOMITIEBMO
Correct Answer:- Option-B

Question93:-wdlwiw GRAMN. GEEMROTI afgD
GUBIEMTYSIHIS

A:-a60m Saflis

B:-6210a] @aflus

C:-0dlal @aflai

D:-&Qom @aflais

Correct Answer:- Option-B

Question94:-wdlwow 8gqjBe ag®?
@RBYIMEBRUB LI

A:-eryeymadepeo
B:-@eymeaclon.

C:-@omamo

D:-@rmoacymo

Correct Answer:- Option-D

Question95:-aladmalic. 6®EeETOSERE
BIMo

A:-c@owo

B:-@rwommo.

C:-000@Go

D:-goko

Correct Answer:- Option-C

Question96:-agadeloneag®d.
allwa

A:-ailcoeym

B:-alwem

C:-allwaind

D:-@reoeyd

Correct Answer:- Option-B

Question97:-alde /g6
@RRMo

A:-@pal + @ooomo



B:-@rm + @oomo

C:-@gn + @oamo.

D:-@no + @

Correct Answer:- Option-A

Question98:-caBecme®s:
Aoy + eflmo

A:-ailoy ellmo

B:-.aild ellmo

C:-alaglmo

D:-aflgflmo

Correct Answer:- Option-D
Question99:-age-aiaimend?

A:-06:80

B:-omoad

C:-@raid

D:-m0god

Correct Answer:- Option-B

Question100:-ewoly alBe HDEEEVHSOD QAUIBYe oJBEIRAIERE
GG DHOBLI00 ~---=======mmmmmo= ED®1EEMo

A:-onomunomam@mem
B:-omnocunommol
C:-onomunomamecu@] af
D:-oinoamunome

Correct Answer:- Option-D



